gTeel gIua —I
fawg — +ifi® IR= (201)
Subject — Physics
PeTT — gREA!
Class — 12"

g — 3 0T quTid — 70

Time — 3 hours M.M. -70

forder : (1) T U AR | it 26 U B R o |

Instructions : (1) All Questions are compulsory. Total 26 questions are to be attemped
(2) ITIYH Uim WSl | T | WS () , WU (9) , WS (|), WS () , WS (3)
(2) Question paper contains five 5section , Section A,B, C,D & E
(3) 3MATIRATIAR Y@Ifaa AT AMifdhd fora &1 &A1 difsig —
(3) Draw neat ray diagram or labeled diagram as required

Yus (31) Section A

fAder - 59 @vs ¥ §of Ul UeH 2 YAP U W U —Udh 3 IreEfed 7 ?
Instruction : This Section contain 5 questions ,each caring 1 mark.

gz (1) faga aiRkar & S.1. w5d vd fad g3 folay |

Q. (1) Write down the S.I. unit & dimensional formula of electric capacity.

g% ¢ (2) gImad! A g9 &7 A E=314 sin 314t € A1 IW! SMART & A 9189 |

Q. (2) The e.m.f. value of an a.c. is E=314 sin 314t write down the value of its frequency.

ged : (3) <gell a¥I TS fhy dEd B |

Q. (3) What is threshold wave length ?

U (4) U o B Bibd S 10 WA, B | IS THE 5 AHL B g W a9
W g9 aTdl Gfafam &1 gpfa Ud R faRay —

Q. (4) The focal length of a lense is 10 cm . An object is placed in front of the lence at a distance
5 cm. Write down the nature and size of the image formed.

g3 - (5) fufered & srfares # smifAe @ SIftT @ 8 a1 999 arel sEfTed &1

¥ forfRgu ?

Q. (5) If silicon semiconductor is doped with Arsenic , then name the type of the semiconductor

formed



Hug (d) Section B

fder : 59 @ve # g U U & YD U WR &I — Gl 3 ArEfed & ?

Instruction : This Section contain 5 questions ,each caring 2 marks.

ged - (6) fagrd faga @1 el Refq vd el Rafd § @15 a7 ofar falay |

Q. (6) Write down two difference between endon and broad side position of an electric dipole

93 (7) UH ATAD BT ORI (470£10%)” B O S ATeld & FioRre TR §9 a0 Ple
& 3 fafgy ?

Q. (7) The resistance of a conductor in (470+10%)* write the colors of the color code in it.

g ¢ (8) MU HIGeIT &IT & °

Q. (8) What is amplitude modulation ?

g3 ;. (9) AN R T & 991 S § a4 7

Q. (9) Connecting wire are made of copper why ?

9o : (10) U #egH R iqdaia 3 81 39 UR eI YhTel fhd ATqahv]
R 3ufad @ o o 6 9 gfad &1 s |

Q. (10) The refractive index of a medium is v/3. At what angle a unpolar light should
incident on it so that the light will become polarise

¥ug (H) Section C

fder : 39 9ve # Fd IRE U & YD U WR A 3@ Srefed 7 ?
Instruction : This Section contain 12 questions ,each caring 3 marks.
g3 (11) 9 @l ofdRae ufaRig & e forges So@T faarn 9a 9 dda enfuq
BT |
Q. (11) Write the definition of internal resistance of cell and hence establish its relation
with emf of the cell.
ged © (12) Ul g U a1 grEeid et | By i iR Ry |

Q. (12) Write down any three difference between paramagnetic and diamagnetic

substance.

g3 : (13) 220 V @I YATEdl ORT 3R fase gRT H DIF 31fdd wWavdd 8 iR i ?
Q. (13) Which one of 220 V ac & 220V d.c. is more dangerous and why ?
e . (14) S ¥ T QN B TR AN FEER B ? SS9 a9 @ M Ud U@
IUgNT oIy —
(i) 1A° (i) 7500A° (iii) 4000A"
Q. (14) Wavelength of three waves are given below write the names and one application

of each wave ?
(i) 1A° (i) 7500A° (iii) 4000A°




geq : (15) e 3fte QW &1 D13 AR R 3fie & o -1D & BT AT ITATT PR
el & S IMg B W SV AT W +2D  &HdT Bl AMIHAT B & W
I |

Q. (15) A preson having myopia uses lence of -1D power for at old age he needs a lence
of +2D power separately explain the reason.

9o : (16) TP oA & uerd &1 SMUddHid /2 ¥ @R IMuddid divT 60° & I SHD
foTT MU= @I97 (1) q&T g fa=e= DIoT (Sm) ST HIFY |
Q. (16) Refractive index of the material of a prism is V2 if angle of refraction for a light

ray is 60° then calculate the angle of incidence and angle of minimum
deviation(6m)

e - (17) T TorT f9ga 9o & fy q@el Smaiy 5.00 x 10" Hz ¥ I 99 W
6 x 10" Hz &1 Y&TeT Smufad & ar —
(1) SeTaET™ BT ST BRI Bl ol
(2) 3mufaa Ybrer &I digdl 9 Al @ 817 |
(3) 3mufrd yebrer & IMIRT 7 x 10" Hz &3 AT &1 8117 |

Q. (17) Threshold frequency of a photo electric cell is 5.00 x 10" HZ. If a light ray of 6
x 10" Hz frequency is incised on it them

(1) whether electron will emit or not.
(2) what will happened? If intensity of incident light is increase
(3) what will happened If frequency of incident ray is increase to 7 x 10" Hz 2

9o - (18) U& A ufaca e @1 srfemywia 60 fad § ol 180 fast @1 W@
fhar w1 Y 2 |

Q. (18) Half life period of a radio active nuclei is 60 days after 180 days what amount of
this radio active nuclei will remain.

ge 0 (19) @A, IR SR Ureed v fhE UBR & USRI & Ifadd 3 SR
SUH Soldaid Bl fha el I b welr § <=1 =nfgv |

Q. (19) Lymen , Blamer and paschan sereis belong which part of the light and from
which orbital to which orbite electron should go in these series.

e (20) T fR¥ M o # FOINIG E B UgEHE] SE@T AM |Arfid akuer &l
T e UG SHal AW AR g1 |

el

Q. (20) Identify the gate given below and write down its name, boolean expression

and truth table of the gate.
i

A &—

O O

O O




g3 (21) SRR & DI T STANT foIRay v gifoRex &1 W@ @1 aRg SuanT &l
Tifed faga aRuer g91=d |

Q. (21) Write any two application of transistor and draw labelled circuit
diagram of its use as a switch.

ged @ (22) 10KHz 3mgfRy dor 10V RreR dicedlt @ Hael RETTa (s REa) &1
SUIRT f&Hil 1 MHz Mgy dom 20V RRER dieedl &I argd a<eT & il fda
TIT & A1 ATgAT Fadbich dll Ied—~ UId 94U =1 HIfSY —

Q. (22) A message signal of 10 KHz. Fraquency and 10V peak voltage is modulated with
a carrier wave of 1 MHz frequency and 20V peak voltage calculate modulation

Index and side band.
Yus (<) Section D
Fder . 39 Wvs H Bad U U & frH offaRe faded His[g & ? 39 U9 WX 4 3id
refed g ?

Instruction : This Section contain only 1 question with internal option. This question

caring 4 marks.

g3 : (23) 3T U dcd TAT Udh ARl RHUSell U |, Ueb foil Afed RETJAN Udh ac
I ¥ Sire iR Raw @1 98 o= Qa1 737 3R {© §AI ygarq U fdemdl o
AR & B NP FHUSAl & 3faX YA FHR Bl HEd o |

(]

N

Jel
SWRIF Rl & MR IR 9 gl & IR <ITT —
(1) s & A< I GHT 9¢d P IHG (P8 bR gRafiad R SR afed

WS HIFSTY |
(2) e faemedt # o7 o qoui & e o= & 79N o | 2|
Q. (23) As shown in the figure a teacher makes an a.c. circuit with a simple

conductor coil with a key a switch and a bulb. Keeping the switch closed than
student was asked to insert an iron rod in the coil.

2 OW]
Answer the following question on the basis of the above situation
(1)  How the intensity of the bulb changes when the rod is inserted. Also explain
the reason.

(2)  Which values of the students are binary tried by the teacher to enhance.
ST




fR1eTh /B BEI DI B BAS 3SS MU | BAS ST U YR&AT BRUIT A
g% Ffdd DI O] FgdD D gRT 9 H YOI Sl & | BB BE1 & U
grg 9 9 ax] |1 o [9d HRUT 91 Wgad A @i e il 39
Rerfa # =1 gl & SR <Y |

T WgAD b BRI BRI BT Ragia fAfRay |

Rt faemeft # foq fom qeaf & RAaERIa o &1 1IN = ) 2

A teacher had a trip to airport along with his student for security reason every

person while entering the airpot has to part through a metal detector. Some
students had some metallic substance with them which made sound when
passing through the metal detector.

Answer the following question on the basis of the above situation

(1) Write down the working principle of the metal detector.
(2) Which value of the students are binary tried by the teacher to enhance.

IUg (3) Section E

fFrder - 39 Wus # @ A4 U © Udd U H ARG f[deed Y W 7| UG g
R 5 — 5 3fe amEfed ® ?
Instruction : This Section contain three question each question have internal option and

YR+ -

YR+

Q(25)

each question caring 5 marks.

(24) U HATH ATARMT 3Fd HAGA dlex & HRUT fdgd &F &l digar =d
HITL? I FATA drey § diagdl Tl | 918”6l 3R & ol S gdcd HI A

gD BT T FUMHD |
Q. (24) Calculate the electric field intensity at a point due to uniformaly charged infinite

plane sheet. If the firection of the intensity is outward from the sheet. State

surface density will be positive or negative

J1eTdT / or

fpedl faeqa fega & ®Ror ey Rufa # faga ffva @1 o #IvR afe fgy@
B 90° A gAT feam S a1 fagga fava @1 A fa=r s 2

Calculate electric potential in axial position due to an electric dipole. If the dipole

is rotated by 90° what will be the new value of electric potential.

(25) FfE DI SIS D & AR AR DI fggd & wT H YRFAT B V&7

2 Al SHd R 9 GHEDHIT fgga BT 3mgel Ard by ?
If one electron is revolves around a nucleus as a magnetic dipole. Calculate
the dipole moment of this magnetic dipole

ST
bl gRTETE! gAThR fHusell & 3 W) Reyd Bl fovg R grarg &= o
ATedT B ITOET R QA D A1 IAD! AedT gRadd & TTE USRI By |



Calculate the magnetic field intensity at a point on the axis of a
current carrying circular coil also plot the graph between distance

and field intensity.

9T ¢ (26) QT ST Al BT BIHA gRAT B 5 FHT IR 15 FH. | W gl
9 =g (hd Mgegd Ud fHY e & ®q d g | I gAdx S
¥l & 9 W 9] A W gfte 3 = g9 ) ufafera fior @
fR0T 3R WAy I ML AT &I uid oIy |

Q. (26) Two convex lenses L; and L, focal length 5 cm and 15cm respectively out of

these two lense which lense will you choose as objective lense & which lense as
eye piece lense to make an astromical telescope. Draw clear ray diagram of this
astronomical telescope when the final image is formed at least distance of distinct
vision write down the expression for its magnefying power.
3T

AN WAdH I b FHIBII Y, = a, , sin wt, Y, = a, sin2wt Y3 = azsin3 wt , Y, =
ay sindwt TAT SIH 9 fhd TR & A IfFIDBIOT T9d & PRUT Aiad forfay |
TS ATABIOT DI I [AEH Befla” & A dradl IRad= &l b Gif |

The equations of four independent waves are as following Y; = a; , sin wt ,

Y, = a, sin2wt Y; = a; Y, = a, sind4wt these waves between which waves
interference is possible and why ?

Write down two conditions for constructive interference and plot graph
between phase difference and Intensity.

000



greel yeYE — 11
fawg — +ifi® IR= (201)
Subject — Physics
PHel — qIREdl
Class — 12"

g — 3 0T quTid — 70

Time — 3 hours M.M. -70

forder : (1) T U AR | it 26 U B R o |

Instructions : (1) All Questions are compulsory. Total 26 questions are to be attemped
(2) ITIYH Ui WSl H 7| WS () , Wue (d) , WS (|), WS () , WIS (3)
(2) Question paper contains five 5 section, Section A,B, C, D & E
(3) SMATIHATIAR AHifhd @I &l a1 HIfsu —
(3) Draw neat ray diagram or labeled diagram as required

Yus (31) Section A

fAder - 39 @vs ¥ §df Uld A 2 YAP Y W U —Udh 3 IrEfed 2|
Instruction : This Section contain 5 questions ,each caring 1 marks.

ged (1) fowa yqourar @ @ ?

Q. (1) What is potential gradient ?

ged . (2) ydmEdl gRT 1=1; sinwt & I SHHI a9 AT Hol a7 BIT ?

Q. (2) If an a.c. current I =, sinwt what will be it’s r.m.s. value ?

g3 (3) <l Foil fhd wEd § ?

Q. (3) What is threshold energy ?

93 (4) ®A & AU Bifdd BT &7 A9 42° 8 AT I W IS YHI 45° 4R 3Mmufed
Bl & A S99 UBI H did  gedr el S8 "edr & 9 foaf¥ay ?

Q. (4) The value of critical angle for the glass is 42° If light ray is incident on

angle of 45° on it, which incident will take place ?
e ¢ (5) IER SHIEM @ fhved d TIWEA # eMee i W9 ardd &
areiTeren] 1 AR oI |

Q. (5) Aluminum is dopped in to pure germanium crystal, write the name of

two semiconductors does obtained.



Hug (d) Section B

fder : 59 @ve # g U U & YD U WR &I — Gl 3 ArEfed & ?

Instruction : This Section contain 5 questions ,each caring 2 marks.

g3 ;. (6) Uh MATHR ATdd ol o 4H. 8 9 10uC 3maer faar T @ o=
A 9 9 I W ddr S BT |

Q. (6) The radius of a sphericalconductor is 10 em If it is charged by 10uC charge find

out it intensity at a point 9 cm from its center.
g3 (7) 9ftRe 9k fafdre ufeRer # ®ig < 3fax forRaxy ?
Q. (7) Write down any two differences between resistance and specific resistance

geq : () 7 fa # ¢ RN @7 B3R C & #ea uRomHT iR | HIfow |

Q. (8) Calculate the resultant resistance between point B and C from the

following circuit

geq :  (9) AIGE Bl IALAHAT Fl Bl & 7 IHD al PHRYT [y |

Q. (9) Why modulation is needed ? Write its two reason.
geq : (10) YBIT &I fdac= @11 2 ? fqad+ &l o flgy |

Q. (10) What 1s diffraction of light ? Write down its conditions.




Iug () Section C

fder : 59 @ve # gl 12 YT § U YT WR A4 3ih AEfed 2 ?

Instruction : This Section contain 12 questions ,each caring 3 marks.

g (1) fodn & fgdm o9 @ faeer S T §9 & gRue §91ax
Sy ?

Q. (11) Write down the second law of Kirchoffes it with the help of proper
circuit diagram.

et : (12) tb L @R 8k M gdaig Argel ard gead dR Hl SEgadR w9 |
HIST AT | 39 URafda e &1 RS JTEe! F1d SIS |

Q. (12) A magnetic wire of length L. and magnetic moment is bend to for
semicircle find the magnetic moment the reshaped shape of the

magnetic wire
g3 © (13) WURYT UG G UROT H PIs i AR ferRau ?

Q. (13) Write any three difference between self inductions and mutal

inductions.

g : (14) A YAl W AGAUSA T8I BIAT Al Yl & ORI R SMHd YA acHI
ATUAT W A® BT AT HH (Y= e T b Aigd falay |

Q. (14) If there were no atmosphere on earth then will the average temperature
of the earth surface be more or less then at present temperature of
earth, answer with proper reason.

ged ;. (15) AT & fERer gam # fbe dieiE &1 99 a3 § 3mm g | Al gANT Bl
gl ¥ fhar SR, 9@t ouadHid 4 /3 § dr fibol diers @1 A9 T B8R 2

Q. (15) Frindge width of youngdoble slit experiment in air is 3mm. If this
experiment is per formed into water of respective index 4/3 then what
will be new value of frindge width

93 : (16) 3MUdT fafde w1 & s wra iR fee o © fIsq A T g O &1
®Is QAT HATSH Gy Sl
(1) 2dT 9B & HHIol Yol Bl 4T 3rfdres fqgmor & fdae o) < |
(2) =dd 9B @ Haivlh 4o BT 41 3t e & fagyor ax |

Q. (16) you are given prism of crown and flint glass of different angle suggest
the types of combination of these prisms which -
(1) Will deviate white light ray without dispersion
(2) Will disperse white light ray without deviation




e . (17) % o1g @ fog <@Tell a9 oW TS 3000°A & S WR 2000°A H UBRT
3ruferd fam ar —
(1) ST BT ST BT P A8 ?
(2) 2000°A & MU YT HI AadT AT B TR &RIT BT 2

Q. (17) The threshold wave lenth of a metallic surface is 3000°A if a light of 2000°A in
incident on it -

(1) Whether the electron emission will occure or not ?
(2) If the intensity of this incident ray of wave length 2000°A is doubled.

9o (18) ESgio URAIY] &l fad 3rawer # Goil 13.6eV 2| 39 S H Jeferg
TAT S 3Rl H Sorde™ &I RAfGS Soif g Tfas SHoil 3t Bifog ?

Q. (18) Energy of hydrogen form it ground is 13.6 eV. Change it into joule

and in that state calculate the potential and kinetic energy of electron.
g3 0 (19) IfRAGR fagves IR TfAe Hoae | ®Ig o afax forfay ?
Q. (19) Write any three difference between neuclear fission and nuclear fusion
g3 (20) SIS SToiE faam #§ NPN gifRex &7 gRT oMY §1d dIfig | STdfd
SIS YR 38 & &7 o™ 095 & 7
Q. (20) Find the current gain of an NPN transistor in common emitter mode if

the current gain of the pone transistor in commen base mode is 0.95

g ;. (21) A &Y ¥ fF H Gate @1 YBAMGI HIINSTT URUL B HIHE AR
qAT el ue falay ?

A O— Y

'Q. (21)““-»11“cﬁlhéntify the gate give below and also write the truth table & Boolean
expression for it.

A o— D—OY

g3 @ (22) Uk di8dh AR DBl FHIAIOT C(t) = A sinwct TAT AIgeld ATl &l
AHIEIOT m(t) = Ay, sinw,t 8 AT AIgferd a9 § I &9 9 A9 aRl 3
a¥dl Al 8l 2 |

Q. (22) The equation of a carrier wave is C(t) = Ac sinw¢t and of a modulating signal in
m(t) = A, sinw,,t then write that which three frequencies will be present in the
modulated wave.




¥US (3) Section D

e : 59 Wus § dad vh Y © o AR fdbed divie § ? 39 U W 4 3D
ardfed ® 7

Instruction : This Section contain only 1 question with internal option. This question

caring 4 marks.
geT . (23) HHAT Uh ReR WG @ UsSd ® AT & 99 YIS & Hag 100 Wl
qrefl TAT 0.10 I &FABA dTell T BUScll F B ofdl & dAT 39 HUSel Bl 0.01

ST dlcl Udb FHIF grdig & H

(1)
@)

()
Q. (23)

(1)
(2)

(3)

F[SAl B TN 3 & AT © |

RISl B FOIT 3T B AR WG B |

9 <l Reafa d fod Refd 4 S g1y 80fl, Ife 98 |oeel ol 3l
TIHY YT AHUS GARN T |

SHH HHE § B | YAl &I b 8 | 7§ ?

Kamla is padelity a static cycle and the padel is connected with a coil of 100
turns and 0.10m’ cross reaction area. If this coil is kept in a magnetic filled
0.01 tesla which is

Perpendicular to the rotational axis of coil.

Parrallel to the rotational axis out of them two porition in which position
current will part through the coil if it is rotated half cycle per second
Which value is developing in Kamla.

341/ OR

SH & Wd H TP Iod & BT <lak Gl fBar a7 2| 98 S geM @ folg
®g Iod AMRBINGT | 3MIE IR gl & HMifdh Fifd I8 clar IqD T &
IS R @ B) forar 2| 99 S9! 991 989 9 fIga myfd ¥ S9d 7'
T AT O 98 99 7 g & Y wend 8 77| SR RefT B uge
(o1 ge=l BT ST QIfY —

(1) 9% Sf} S=a Ofdd & AR § R Ayl 2 |

(2) S® v IS 989 gRT QeI T Hed! &l {71y |

A high power tower is erected in Dabbu’s field. Several times he requested
the higher official to remove the tower which occupied a large area of this

field , Then his elder sister told him about the perplexes of the tower in
electric supply then he agreed do not remove the tower from his field
Answer the following question from the above situation

(1) Why this tower important for high power transmission ?

(2) What values are shown by Dabbu’s and his sister.



Eug (3) Section E
fder - 59 @vs # g 3 YT 2 ISP U H AR [dbed A T 7| ISP U W

5 — 5 3 aefed & ?

Instruction : This Section contain three question each question have internal option and

each question caring 5 marks.

g3 : (24) Uh MATGR GRT & @il o o) HAe: a ;iR b g1 I a> b d 94
el ¥ Ty HeTRE 91y S8d! aiRdr & aoid Maiferd | Ife SF1 wiel

@ drd K URTGgIdis &1 URTdedid Head WRT ¢ |

Q. (24) The radius of plates of spherical capacitor are a and b respectively if a > b so find
the expression of capacity of this spherical capacitor with a medium of dielectric

constant is K lie between the plate.

34T / OR
MY YA Bl foRgdR IHDH! HERIAT ¥ Helid & Gobd ail 199 & W]

BT |

Write down Gauses theorem and establich coulombs inverse square law by using

this theorem
g% : (25) BT Aol ofd RT@T I SRAT HHEE f) iR f, § S99 99 Wgad o @
BIhd ¥ 0 BT dor S uRRefadl & Haifer fSad wgad o9
A o H B TRE B BN |
Q(25) Focal length of two thin lenses are f; and f; find out the focal length of the

combined lense formed by them and also write its conditions for which this

combined lense will behave as a convex lense

3ferdr / OR
HYad GeHasl & AMGID UG AIFbT P BIbd gRAl HA: f, 3R f, B I8 BT

sifcrm gfdfdd we gfte &) YAdd € R g9 Bl o aRE Eigay I

JMMEL SHAT BT AT ST HITIY |
focal length of objective and eye piece of a compound microscope
are fo and fe respectively draw ray diagram for this microscope
when the final image is formed at least distance of clear vision

calculate the expression for magnifying power.



99T : (26) UH GRTEE dTad forad [ (TRRR) @ a1 98 W& € S99 d 9 R Rafa
frdl fg p R g &3 a1 daar &1 aikarr g e e i | ad

B © | S ARy 7 S = A o |
Q. (26) I Ampere current is flowing through a conductor. Write down name of the law
using which magnetic field of intensity and direction of magnetic field developed

at any point P at a distance d from two conductor and find the intensity too.

4T / OR
UEh SU8 gHE NSIFdHI gd Teed m 99l TS [ & | 5N U6 99 g 8

B H AM W @ dTel 9 I P ATYON U9 IW gAM | 6T T wRl FH qorn
I |

A bar magnet of effective length 1 and pole strength m is brought in to a

uniform magnetic field of intensity B calculate the torque and work done in

rotating this magnet.

000



